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PERE | Bl 35 34 69/ 0.0 |69.0 1 511G fE 43 43 86/ 10.8 | 75.2 24
HEEN B L5 36 41 770 6.0 | 71.0 4 52| A E1- 49 48 97/ 21.6 | 75.4 69
3I/NEF s 49 46 95/ 24.0 | 71.0 57 534 F Ml 41 38 79| 3.6 |75.4 9
4118 FER 37 40 771 6.0 | 71.0 4 54 |FKIR 1ERE 44 45 89/ 13.2 |75.8 33
5/ F B 37 39 76| 4.8 |71.2 2 55| [y 47 48 95/ 19.2 | 75.8 57
6|RHITH BE 37 43 80| 8.4 |71.6 11 56| )1 HE— 49 46 95/19.2 | 75.8 57
1=K R 38 40 78| 6.0 |72.0 8 NS S 43 46 89/ 13.2 | 75.8 33
8| HHH {5 40 44 84/12.0 | 72.0 18 58| M HE— 42 45 87| 10.8 | 76.2 26
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10| %% &5 42 39 81| 8.4 |72.6 13 60| 1L B 50 48 98/21.6 | 76.4 73
11 dEHs 46 40 86| 13.2 | 72.8 24 61| HE B 48 44 92| 15.6 | 76.4 46
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1359 A 42 43 85/ 12.0 |73.0 19 63/ M % 48 49 97/20.4 |76.6 69
14| 5% & 46 45 91]18.0 | 73.0 40 64| #xH == 41 50 91| 14.4 |76.6 40
15 55 48 48 96/22.8 | 73.2 61 65| 1L FE 47 42 89/ 12.0 | 77.0 33
16|12 Ath 50 46 96/22.8 | 73.2 61 66| LR FE— 44 50 94| 16.8 | 77.2 54
17 #® 44 52 96| 22.8 | 73.2 61 670 F 51 49| 100]22.8 | 77.2 83
18|F R & 45 45 90| 16.8 | 73.2 38 68| JIIF; = 51 49| 100/22.8 | 77.2 83
19| AT JE5L 43 46 89| 15.6 | 73.4 33 69| H J&+ 44 50 94| 16.8 | 77.2 54
20 | VAR ek 40 37 77| 3.6 |73.4 4 70/=F IE 43 44 87| 9.6 |77.4 26
21| & 75 KHR 49 51| 100]/26.4 | 73.6 83 71HEH B 56 49| 105/27.6 | 77.4 95
22| H HEA 43 45 88(14.4 | 73.6 30 12| Kk EEA 46 53 99| 21.6 | 77.4 78
23| AH 39 37 76] 2.4 [73.6 2 T3 EH B 43 44 87| 9.6 | 77.4 26
24 | [mAT 52 47 99(25.2 | 73.8 78 T4146) WHEE 48 45 93|/ 15.6 | 77.4 51
25 Ik &5 40 41 81| 7.2 /73.8 13 75| Fot 1R 43 49 92| 14.4 | 77.6 46
26| EF] F— 45 53 98]24.0 [ 74.0 73 76/ FkL B 50 48 98/20.4 |77.6 73
27IH Gk— 44 48 92| 18.0 | 74.0 46 T80 == 52 51| 103]25.2 | 77.8 89
28| Il IEXC 44 48 92| 18.0 | 74.0 46 78 |BEH —AB 46 51 97/19.2 |77.8 69
29 ¥ KIr 48 44 92/18.0 | 74.0 46 79 % PET 55 54/ 109]31.2 | 77.8 102
30 ey =% 43 42 85| 10.8 | 74.2 19 80|#rH Ak 38 47 85| 7.2 |77.8 19
31| EtE iA] 42 43 85| 10.8 | 74.2 19 81 [T HEVE 49 47 96/ 18.0 | 78.0 61
32|76 7E A 45 46 91(16.8 | 74.2 40 82| KM AH] 50 46 96| 18.0 | 78.0 61
33| =K IE+ 46 45 91| 16.8 | 74.2 40 83|k & 47 49 96/ 18.0 | 78.0 61
34| EH EEA 39 40 79| 4.8 [74.2 9 84| H AR BZ 56 58| 114]/36.0 | 78.0 104
35| ME HIE 39 52 91 16.8 | 74.2 40 85|IUA BFF 52 56/ 108]/30.0 | 78.0 100
36| % H— 49 47 96| 21.6 | 74.4 61 86 | ILIlkF %41 55 51| 106|27.6 |78.4 97
3TVITHAR 7 43 40 83| 8.4 |74.6 17 87|57t 1HiE 54 58| 112/33.6 |78.4 103
38|l L 5kH] 38 39 77 2.4 [74.6 4 88| A 4FAih 48 50 98/ 19.2 |78.8 73
39 12 AR SLH 48 41 89| 14.4 | 74.6 33 89 | B H {Efi] 45 52 97/ 18.0 | 79.0 69
40 | FEIAR SE3C 48 52| 100|25.2 | 74.8 83 90| ILAR IEFE 45 45 90| 10.8 | 79.2 38
41 FnH fESC 47 47 94/ 19.2 |74.8 54 91| K Fi+ 54 53| 107/27.6 |79.4 99
42| IUAR A/ 44 44 88| 13.2 | 74.8 30 92|k H A% 46 49 95/ 15.6 | 79.4 57
43| F% WhsE 49 51| 100|25.2 | 74.8 83 93| EHF HAET 50 56/ 106]26.4 | 79.6 97
44| BEIE 42 45 87/ 12.0 |75.0 26 94| (i BT 47 46 93] 13.2 |79.8 51
45|[f AR 1EFS 51 48 99/24.0 | 75.0 78 95|17 BHIE 53 51| 104]/24.0 |80.0 91
46| H E— 41 40 81| 6.0 |75.0 13 96 &1L BF 47 49 96| 15.6 | 80. 4 61
471D ZR 43 38 81| 6.0 |75.0 13 97 [ S 48 52/ 100] 19.2 |80.8 83
48 | T R 46 47 93/ 18.0 | 75.0 51 98 YN Ui 48 51 99/ 18.0 |81.0 78
49 [ H FR S 47 51 98] 22.8 | 75.2 73 99| =G JEH] 53 46 99/ 18.0 | 81.0 78
50 f ] B 40 40 80| 4.8 |75.2 11 100 (LG B = 51 53| 104]/22.8 |81.2 91
1/ 2 galuho ) —H50



BEEAE A B :20254E02 4 15H (1)

RS = R

HTH @ 2025.2.15 17:05

SR 1.0 AT 360 &ME36. 0 ELA—nL: oT2 3 4 5 6 9
IN10 11 13 15 16 18
RS IRrS HRY T AaATHw h ZT— 0
A= —=  :0UT IN ZIMANEC B2 N K12 AFEFI04A ‘
NENT P E i1 AEAH N T 4
NEfr | 2 R4 OUT | 1IN |GROSS| HDCP | NET | ctossuir i AT | 2N K4 OUT | 1IN |GROSS| HDCP | NET |crossis: (LES]

101 FHER o 51 52| 103]20.4 |82.6 89
102 1R 22 45 46 91| 8.4 |82.6 40
103 |/AJif] [ 50 55| 105[/21.6 |83.4 95
104]) 11K BEE 55 53] 108/ 24.0 [84.0 100

2/ 2

sRlUA ) =957



